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G) 197 3991 7 37aie faeq 130 7T &, 378 Digeht @uT y97 fAard & |

(ii) WIS &:J97 G&IT1 T 18 § I & 1c70 1 37 [F4Ra & | 37T9d 199gaRr X
g7 @ 98T FH1 Tt & |

(iii) @UE @ : F97 G&IT 19 T 23 37id TY-F70F 2l39-1 397 &, 78 Fe9% & 1078 2 37
fFEiRa & | Icdeb J97 &7 3¢ 30 Isgl & 37ferh 757 5171 T80 |

(iv) UG T : J97 &7 24 & 27 TY-31T 213911 97 8, 577 3% & forw 3 37
FeiRa & | Icde J97 &7 3K 60 Feq! & 37ere 7871 &7 T30 |

() GUE G : J¥T &I 28 & 31 FH-ITRIT 2139l ¥IT 8, foH YAH & 7 4 3%
[erffa & | gede J97 &7 3T 120 3155) @ 371 757 517 T30 |

(i) WIS F: I3 J&IT 32 UF FH-3RT 213911 I97 &, 573 forw 6 a7 feifa & /
59 Y97 H7T I200 o5 & 37feeh 787 5147 T30 |

(vii) @UE T : J97 &I 33 & 36 1 Tk 37eqa=1 W STIRT I3 & | I 9k 37eq3
T TERT 2 J97 Y8 TT 8, 9798 @ 9% & Io7q 2 379 fAgiRa & | 39% o7 &7
FR 30 3153 & 37fer 787 57 T30 |

Qusg <h

1. foo & ara-fuar sadea # € for 98 =medl (1141) e d b fowai &1 ===
H | IHeh! GHAT T o [T TRl HIZH 4 ATTFHA T T+ 1 G

oo | oTues ST AR 39 fohe YR hi Afyrermar wdten €t Smart 2 1
(a) Tomrdfiepa
(b) T
(c)  HM=Tehd
(d) SAEETR
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General Instructions :
(i) All questions are compulsory, except where internal choice has been given.

(it)  Question Nos. 1 - 18 in Section A carry 1 mark each. You are expected to
answer them as directed.

(iti) Question Nos. 19 — 23 in Section B are Very Short Answer Type-I
Questions carrying 2 marks each. Answer to each question should not
exceed 30 words.

(iv) Question Nos. 24 — 27 in Section C are Short Answer Type-II Questions
carrying 3 marks each. Answer to each question should not exceed
60 words.

(v) Question Nos. 28 — 31 in Section D are Long Answer Type-I Questions
carrying 4 marks each. Answer to each question should not exceed
120 words.

(vi) Question No. 32 in Section E is a Long Answer Type-II Question carrying

6 marks. Answer to this question should not exceed 200 words.

(vii) Question Nos. 33 — 36 in Section F are based on two case studies given.
Each case study has two questions carrying 2 marks each. Answer to each

question should not exceed 30 words.

Section A

1. Vijay’s parents are confused as to what subjects should he choose in
Grade 11. To know where his strengths lie, the School Counsellor
suggested that he take an aptitude test. What form of aptitude test do
you think would be given to him ? 1

(a) Specialised
(b) Independent
(c) Generalised
(d)  Vocational
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2. $® AN H FIER AThIHh, 3Tgoh|

i 3ferehar gt & | 1
(a) TSR
(b)  HAEATYAT
(c)  dfAehramdan
(d)  SAAHET
3. SN 37cH YNGR 3 grHiiieh a4l qew dl 7, 39 A e | 1
(i) A
(i)  HHIN®
(iii) ~OTETER

IR ELIR:ED
(a) (i) 3 (ii)
(b) (i) 3T (iii)
(¢) (iii) 3T (iv)
@ @) ()

4. PO ToRIvh ThEX SARE % AW % 1Y FHSdl € IS IAd & R TrediamE) @

“Teearardl’ Sl uga™ 91 id § | 39 fomiyeh shi qg=H il | 1
(a) HoE
(b) T
(c) gl
d q@
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2. There are some people who are hostile, egocentric and antisocial. They
are said to be high on 1
(a) Sociability
(b) Psychoticism
(c) Neuroticism
(d)  Introversion
3. The self that values family and social relationships is referred to as
1
(1) Personal
(1)  Social
(111) Familial
(1v)  Relational
(@) (1) and (iii)
(b) (1) and (ii1)
(c) (ii1) and (iv)
(d (@) and @(iv)
4, Some traits often get associated strongly with the name of the person and
derive such identities as the ‘Gandhian’ or ‘Hitlerian’ trait. Identify the
trait. 1
(a) Central
(b) Secondary
(c) Surface
(d) Cardinal
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5. {=AfiRad # ¥ iH-91 %4 To9 1 HAT i & a1 | &l g7 & ? 1
(i)  ETHAT T (coping) THTE o Ufd Teh Teatedes feafd-fafsme ufafsran 2 |
(i) 8 coeyl feufet o wemett & gfa o Ffvaa od sgfranett =

qY=d Bl 8, Toehl e TUEAT 1 THIYH AT AT GG I A

AT BT @ |

(i) T SARFAT T TG AT GEAT R I FHA FAAR BT @, ITH ATRITH
TY T T B Tt HiRHIeT 6t fawrhar feed gt 7 |

(iv) SRk camEqul feafadt o1 | o i IRE § IS SERia ohid

2|
(a) (i), (iii) 3 (iv) (b) Had (iii)
(¢) (i) 3 (iii) @ (1) 3 (i)

6. A g H T dell  IGEdrdeh  UTST  h HRU WD  HI
I -STATAR0T AT a8 | 98 ST Arehdl 3TN =Re] A" W dgad s
H B @ oA | T FB wEH | IWeh! qeEa It A8 ft | 98
fafercdia Sita & fow 78 3R war =@ o 30 3= WA 8 | 9T ST %

TAL oh FTIR VHT Fohl T W g1 & ? 1
(a)  @=d Sldfsea (b) Wity
(c) i (d) TR

7. UM R W W U SO STEdn g | T do foh 98 7 dl GH1E ekl T G
Al & AN 7 3H WHRAT 7 | I8 T TR hi THERH 3Ed @ ? 1
(a) foegfa
(b)  UNER
(c) TorctsH
(d)  YofaraTg
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5. Which of the following statements is not true about coping with stress ? 1
(1) Coping is a dynamic situation-specific reaction to stress.

(1) It is a set of concrete responses to stressful situations or events
that are intended to resolve the problem and reduce stress.

(111) People who cope poorly with stress have high level of natural killer
cell cytotoxicity.

(1v) Individuals show similarity in coping strategies that they use to

deal with stressful situations.

(@) (ii), (iii) and (iv) (b)  (iii) only
(c) (i1) and (iii) (d) (1) and (ii)
6. Meena’s work environment is highly stressful due to wunrealistic

expectations by the organisation. She had been trying to balance her job
as well as her home front. Since the last few months, she was not feeling
well. So, she went for a check-up and was diagnosed with high blood

pressure. According to General Adaptation Syndrome, at what stage does

this happen ? 1
(a)  Alarm reaction (b) Resistance
(c) Exhaustion (d) Adaptation

7. Wasim is always brushing everything under the carpet and refuses to

face the stressor or even accept it. Which kind of unhelpful habit is this ? 1
(a)  Forgetfulness

(b)  Avoidance

(c) Procrastination

(d)  Perfectionism
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8.  UJ@ql-gad Hisd % a1 H FMHfaRad H & HH-A1/HH-8 HI T8l o/ ? 1
()  $O Sfask fauem =1 gF1, S I9WE & @ohd & |

(i)  HAMSHTS Jh TR CEE % FIASH  HRU AR fohR fohfad g
g |

(iii) TATFHEAT % HROT fRet AR faehR & i SraquidT 3ca= &1 dehdl
2 |

(iv) Toehrl Jfceiciehl < UENA M o RO HAGHTHS Gl Hl SH &l
hl 3 |

(a) had ()FE 2 |

(b) (i) 3 (iii) & & |
(c) <had (iii) T 2 |
(@ (i) 3 (Gv) 9&1 B |

9. I AN Gg Hl R fo=ami I IR-aR T HE Pl HE A T8 Uh 9 7, S
39k ek HTHKNI hl MU Hld & | 31 @ H fe@s @ I Ao

+3 | 1
(a) 39T ITTHE fohR
(b)  3Td fahR

(c)  <hIRIeh AMTALI TR
(d) FufEd-segar fasr

10. U cH-INIT oTcieh, Hgehdd, UH foehR @ T%q 9man T 8T 38 ford SMesit &t
Tdehdl F FIAT T U T TET T | HiSE Bl 2 | 3HE STh Ued,
forga g Tt & & S Hivell | I9E gsal 8 | 38 fasr i ggam
HIT | 1
(a) Tocar JuishH faepr
(b) g TMeFda
(c) fafsmse saferm faere

(d)  FgH-=Far Afdfshan fawr
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8. Which of the following statements is/are true about the diathesis-stress
model ? 1
(1) Presence of some biological aberration which may be inherited.
(11)  Physiological disorders develop due to combination of psychological
predisposition and stressors.
(111) Diathesis may carry vulnerability to develop a psychological
disorder.
(iv)  Absence of pathogenic stressors that may lead to psychopathology.
(a) Only (i) is true.
(b) (1) and (111) are true.
(c) Only (i11) 1s true.
(d) (11) and (1v) are true.
9. Some people are unable to prevent themselves from specific ideas or from

repeatedly carrying out a set of actions that disrupts their daily

functioning. These people are showing symptoms of . 1
(a) Manic depressive disorder

(b) Panic disorder

(c) Somatic symptom disorder

(d)  Obsessive-compulsive disorder

10. Michael, a 10-year-old boy, was diagnosed with a disorder where he has

difficulty in perceiving and processing information accurately and

efficiently. This impacts his basic skills of reading, writing and doing

mathematics. Identify this disorder. 1
(a)  Autism spectrum disorder

(b) Intellectual disability

(c) Specific learning disorder

(d)  Attention-deficit hyperactivity disorder

63
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11. T=fifga g9a o ifdepem (A) @1 HU AR 3Weh &1¢ @b (R) 1 HAA T
TR | (a), (b), (c), (d) ¥ & T faehew gHT | 1
frpeT (A) : GHeHs Tafhea & HER, s9UH d UNER AR @9 g

YA ITIHT ST H o fafd ASHT A1 qA ShAT o &9 |
foeprfaa &1 S1d 8, o =afe & fovam i fsean & faed

0O NN "
gierferd gid & |

7% (R) : 39 fafercan # SAfoeh! fovame gqead! geatl 3R 39k qomHi
& ST AEIEIdT Hd 3 |
(a)  SANTHA (A) YT b (R) T @t 3 3T e (R), ATHeH (A) I T
T 2 |
(b)  SANTHAT (A) AT @b (R) GHI T& 7, g aeh (R), AR (A) i Tt
=TT 7 3 |

(c)  3AfYHeE (A) TEl B, Tifehd dh (R) Tad 7 |
d) AMMHAT (A) T B, Afehd db (R) T&1 3 |

12. fifcaes wsp Taifercan =tam @1 8, S&T 39 39 AR Tihanst IR 9eHsT
YA T S @1 ? S 3Eh! SIPEehdl H 37d%g 8 W 8 | Tgl S

Tafercan Iwm h ST @ B 2 1
(a) Harefi-enfga faferean (b) 3geigsh Fafhca
(c) HFMIcH® g fafercan (d) TEeree faferean

13.  GoME %l G o (Y FAIERIEh fagaryor i fepam Sian & 2 1

() Sl SEeER ged W fo
(i)  3Tke STTER oh TNUMTHT HishAT Sl @A o foTT

(iii)  Graqul ATETH o qAad] shi TEAH B o [oTC
(iv) QISqUl STRATH ol SHTC TW@H ATt Hehi hl T8aH i o 0T

(@) (), (i) 3 (iv) (b) had (iii)
(¢) (i) 3 (iii) @ @) AR (i)
63 Page 10 of 23

Get More Learning Materials Here : & m @&\ www.studentbro.in



EE
]

11. In the following question, a statement of Assertion (A) is followed by a

statement of Reason (R). Select the correct choice from (a), (b), (c), (d). 1

Assertion (A) : According to cognitive therapy, childhood experiences
provided by the family and society develop core schemas
in the child which include beliefs and action patterns in

individual.

Reason (R): In this therapy, irrational beliefs mediate between

antecedent events and their consequences.

(a) Both Assertion (A) and Reason (R) are true, and Reason (R) is

correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) 1s not

the correct explanation of Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

12. Ritik 1s undergoing a therapy where he is being taught to recognise
bodily processes and the emotions that are being blocked out from his
awareness. Which therapy is being applied here ? 1

(a) Client-centred therapy (b) Logotherapy
(c) Cognitive behaviour therapy (d) Gestalt therapy

13. Why is behavioural analysis conducted to overcome stress ? 1
(1) To find malfunctioning behaviour
(1)  To find the consequent operations of the adaptive behaviour
(111) To identify the antecedents of faulty learning

(iv)  To identify factors that maintain faulty learning

(@) (1), (iii) and (iv) (b) Only (iii)
()  (ii) and (iii) (d) () and (ii)
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14. frafafegd g9 d Afsem (A) &1 Fo 3R 3Gk 91¢ dh (R) &1 oA fea

W%I(a),(b),(c),(d)ﬁ@@ﬁ%qﬂml 1
SfYHT (A) :  FFETHS T 1 379 7 To6 3fugla 9 & 3 Jewhi & fauda
foam & g1 =nfzu |
7% (R) : Ife I 2 U< qTieheh &Y § Teh GHM &1 3, dI sAh Th ThN
Sl T STGfaYT ST TV HLAT 8 |
(a) IR (A) q9T T (R) §F1 T& 3 3R @b (R), AR (A) T Tl
T 3 |
(b) AT (A) AT T (R) SA1 Tl 7, T dob (R), AMTHeH (A) H T
e TE R |

(c)  3INHAA (A) Hal B, Wlehd doh (R) T4 7 |
(d)  SARIHAA (A) TAd B, Ak deh (R) T8 & |

15. i | 3T & &1 H T T o1, Teh oY Y& o Hamet, ® 1 SJagr
3Geh Ui 3@ 9 WYY o7 | S AR 39 T o9y % @rn & 7 e
HAl & 3T & 32 bl T TR a1 8 | 39 T ¢ o 39 TsF o AN |
oo =1 31T B | 98 3T g 1

(a) Td; 99eh giasaife

(b)  EF °hl YN d

(c)  SfeT T Ih0 FAMI

(d) g g9

16. TmfdRea # ¥ IhgRd afedd &1 HRU S94 JET DHH-A1 SRH 78T

8 7? 1
(a) e i formryand
(b) el fomyaTd
(c) @rd <l forard
d) & Hl T
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14. In the following question, a statement of Assertion (A) is followed by a

statement of Reason (R). Select the correct choice from (a), (b), (c), (d). 1

Assertion (A) : Cognitive consistency means that two components in an

attitude system must be in the opposite direction.

Reason (R): If the two elements are not logically in consonance with

each other, 1t leads to distress in the individual.
(a) Both Assertion (A) and Reason (R) are true, and Reason (R) is

correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) 1s not

the correct explanation of Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

15. Ashwin’s roommate at college, who belonged to a particular State, was
always rude and selfish towards him. Ashwin now does not befriend or
employ people from this State as he feels that they are all impolite. This

1s an example of 1
(a)  Self-fulfilling prophecy

(b) Kernel of truth

(c) Scapegoating

(d) Social cognition

16. Which one of the following is not a factor that will lead to attitude
change ? 1

(a) Message characteristics
(b) Environmental characteristics
(c) Source characteristics

(d) Target characteristics
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17. &9 ot fret-a-forell R & @yg @ @afya 8d & | Af 319 aved &« H
IS BId 7, A1 98 Thd SRR 1 TWE BT 2 1

i) IR
() gt
(i)  Sfo=TiER
(iv) SHIT=TER

(a) (@), (iii) 3 (iv)
(b) (i) 3R (iv)
(¢) (i) 3R (iii)
@ @), Gi) 3R (v)

18. Tafafad wwa & 1fieped (A) &1 A 3R 3T 91€ dh (R) &1 e e
TR | (a), (0), (), (d) H & w&l faehed g | 1
frpeT (A) : Glagafaa ifedfet o =t & 9 s=1 & 3=

graTieR-31fe feafa & 9faml g e o foren s g, 3ehl

gfg wmHeRl | Tcfye gig foams <ot 7 |

T (R) : el S gig o faehm™ 1 = gar § J&ith YK @ 99y
TN, 3R] T Je3yH ql uadigd Rier-ien gig §
g At B |

(a)  SAHAT (A) 91 qoh (R) I HEl & AR T (R), 3tfeherd (A) 1wl

ST & |

(b)  HAMHAT (A) HE 7, ©ifehd Toh (R) Teid 2 |

() e (A) Terd B, wAfehd @b (R) & B |

(d) AR (A) T @b (R) THI T&l 7, g a (R), AR (A) i Tt
T TET 2 |
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17. We all belong to different types of groups. What type of group will the
armed forces be if you join it ? 1

(1) Primary

(11)  Secondary

(111) Formal

(iv) Informal

(@) (1), (iii) and (iv)
(b)  (i11) and (iv)

(c) (11) and (ii1)

(d) @), (1) and (iv)

18. In the following question, a statement of Assertion (A) is followed by a

statement of Reason (R). Select the correct choice from (a), (b), (c), (d). 1

Assertion (A) : Children from disadvantaged homes, when adopted into
families with higher socio-economic status, exhibit a large

increase in their intelligence scores.

Reason (R): Environmental deprivation lowers intelligence while rich
nutrition, good family background and quality of

schooling increases intelligence.

(a) Both Assertion (A) and Reason (R) are true, and Reason (R) is

correct explanation of Assertion (A).
(b)  Assertion (A) is true, but Reason (R) is false.
(c) Assertion (A) is false, but Reason (R) 1s true.
(d) Both Assertion (A) and Reason (R) are true, but Reason (R) 1s not

the correct explanation of Assertion (A).
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Section B

19. Adil, a young man, shows aggressive actions that threaten or cause harm
to people or animals and indulges in serious rule violations. What are
these symptoms indicative of ? Mention two other types of aggressive
behaviour. 2

20. (a) Ranjan has faced a lot of mishaps in his life. However, he shows low
levels of illness despite high levels of stress. What makes people
like Ranjan resistant to stress ? 2

OR

(b) Neerav’s parents have recently shifted to Bengaluru and have been
busy settling him in the new city. Neerav misses his friends back in
Nagpur and this has impacted his academic performance. What is
the source of this stress ? State the other sources of stress as well. 2

21. Explain cognitive distortions. Give an example of cognitive distortion that
a client might be experiencing. 2

22. Suppose you are a college student who wants to contribute towards the
country’s economy. Suggest a process that you will use to bring an
attitude change amongst your peers towards buying only Indian goods to
support the nation’s economy. 2

23. Differentiate between ingroup and outgroup. 2

Section C

24, Ryan and Shireen are siblings brought up in the same environment.
Ryan knows all the formulae in mathematics and can recall them as they
are but cannot solve problems based on those formulae, whereas Shireen
can use formulae to solve any kind of problem that are based on them.
Explain the intelligence they both exhibit. Which approach is this theory
based on ? 3

25. Explain any three psychological models used to understand mental
disorders. 3
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26. (a) ‘An individual’s attitude towards a particular topic may be contrary
to his/her behaviour.” Justify this statement with evidence. 3
OR
(b) Values and beliefs are not the same as attitudes.” Explain this
statement with the help of examples. 3

27. Mehak is an important member of her Psychology group and has recently
been selected to be a member of the football team as well. What is the
main difference between the group and the team that she is a part of ? 3

Section D

28. (a) Describe the model which states that intellectual activity involves
the three interdependent functioning of neurological systems. 4

OR

(b) The cultural environment provides a context for intelligence to
develop. How does the role of culture influence our understanding of
intelligence ? Explain. 4

29. A study found that one-third of British children, at age six, are afraid of
snakes even though it is rare to encounter snakes in British Isles. The
children had never come in contact with snakes in a traumatic situation,
but snakes still generated anxious response. How would Carl Jung’s
theory of personality explain the same ? Throw some light on his theory. 4

30. (a) To deal effectively with environment, the individuals must possess
the right life skills. Explain any four of these life skills. 4
OR
(b) Many ailments like hypertension, ulcers, etc. could be stress related.

To prevent this from happening, we need to be aware about stress
management techniques. Explain any four of these techniques. 4

31. An eight-year-old child is showing aggressive and disruptive behaviour in
the class. As a student of Psychology, what techniques would you suggest
to help modify the child’s behaviour ? 4

63 Page 19 of 23 P.T.0.

Get More Learning Materials Here : & m @&\ www.studentbro.in



EE
]

Qs &

32. (%) ‘Afthear ol THgH & @ 3 fagrar o1 3w foman w8 | == shifve
fop U= 1 @ AR ol SAfhed o J€A1 H aFihd i o TAE Hd
fepu T # | 6
AT
(@) WIS % AR, AN JRAfhdl ol fdehd L ’E I & i aTal!

iR T ITART L gredal & F=d & | 37 JAAT I T hal Sal 7 ?
3CTEWUT <h! TEAT © $8eh Taie ThI ol TIE HINT | 6

Qus <

[HET1cTIEd 2 37e3 9§ 48 77 Jo41 (9. 33 - 34) & I FIT :

TE-auld Th ASHI, HIGRHH I Gg THT @H 3R HUS Tg4H H HiSTS
Bidl 8, <ifehT ATaT-fuar < 9fsteqor 9 38 el Tad 84 § Heg <hl 8 | 39 34
JiEaR ¥ 9T s o9 § w9e gid) 8 S gieieh giieafae § S o 91y
FIZR L T HiSATS Bidl 3 | 39k HId1-Uar gHe 35 oR 7 foifad wd 8 3k
IHd & for efies et 4 38 aTaR SEg Y STEvIhdT 8 | HIgEH T WTE
Ut 2 fob 98 1 el dTEdT 8 3T IHehl MATIAhd @l &, Afehd 39
TRt & T 38 augHT givshat 3 RIifch TUNUT TR T9T Shivrelt § 98 379 0
3 |

HIgTed 1 39 0 I 6 SIA AT 3R TEEehHal 4 3Heh THER
@& g1y fafye wHifae ST g9edl o1 ST L 3T 919 Jiasy & fau
ASHITE S T &I ohigd [ohaT | $Feh TATd 3o Hal THI T ITYH AHHR]

ST, FETEAT <l THSAT R I8 ST A o7 |

33. (%) WEhm fre faepr = weiid = w1 2 ? 30 Taciaar auisa foer &
AT T | 2
T
(@) wEfa # fo@s ¢ ot e 39 fawpr & ifid Mk s a Fo sz 2 2

34, HIERHA % TR ol WS o U TGRS fohii i afiehd s & g

N o

AT fohe I ! FE=aT oid & ? 2

63 Page 20 of 23

Get More Learning Materials Here : & m»/ @&\ www.studentbro.in



EXE
B
Section E

32. (a) A number of theories have been used to understand ‘personality’.
Discuss how efforts have been made to categorise people into
personality types since ancient times. 6

OR

(b) According to Freud, individuals avoid anxiety by using mechanisms
that protect the ego by distorting reality. What are these
mechanisms called ? Explain its different kinds with the help of
examples. 6

Section F
Read the case study and answer the question (Q. 33 — 34) that follows :

Mohsin, a 6-year-old boy, has difficulty in feeding and dressing
himself, but training from his parents has helped him to be a little
independent. He faces trouble making friends outside his family and has
difficulty in dealing with people in social situations. His parents are
always worried about him and are aware that he needs consistent level of
supervision in daily tasks. Mohsin’s brother understands his needs and
what he says but it is difficult for his peers to understand him as he lags
behind them in communication and language skills.

Throughout Mohsin’s journey, psychologists and health workers
focused on engaging his family in meaningful future planning using a
variety of strategies and resources. This included offering them ongoing
and timely information and assisting the family to understand and
connect to resources.

33. (a) Identify the disorder Mohsin is exhibiting. Distinguish it from

autism spectrum disorder. 2
OR

(b) How are the symptoms that Mohsin is exhibiting different from a
more severe form of that disorder ? 2

34. In order to understand Mohsin’s disorder, what do psychologists refer to
classify psychological disorders ? 2
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Read the case study and answer the question (Q. 35 — 36) that follows :

When Srikanth Bolla was born, neighbours in the village suggested
that his parents smother him. It was better than the pain they would
have to go through their lifetime, some said. He is a “useless” baby
without eyes; being born blind is a sin, others added. Twenty-three years
later, Srikanth is standing tall living by his conviction that if the “world
looks at me and says, ‘Srikanth, you can do nothing’, I look back at the

world and say, I can do anything.”

Srikanth is the Founder and CEO of Hyderabad-based Bollant
Industries, an organisation that employs uneducated and challenged
employees to manufacture eco-friendly, disposable consumer packaging
solutions, which is worth ¥ 50 crore. He considers himself the luckiest
man alive, not because he is now a millionaire, but because his
uneducated parents, who earned ¥ 20,000 a year, did not heed any of the
‘advice’ they received and raised him with love and affection. “They are

the richest people I know,” says Srikanth.

35. We can see that Srikanth has the ability to adopt, shape and select the
environment. Identify the theory of intelligence that would best support

our understanding of Srikanth’s intelligence. 2

36. “Srikanth is standing tall living by his conviction that if the “world looks
at me and says, ‘Srikanth, you can do nothing’, I look back at the world
and say, I can do anything.” According to Gardner’s multiple theory of
intelligences, which kind of intelligence explains this ? Discuss this

intelligence in brief. 2
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior Secondary School Examination, 2023
SUBJECT NAME -Psychology (SUBJECT CODE -037) (PAPER CODE-63)

General Instructions: -

1 You are aware that evaluation is the most important process in the actual and
correct assessment of the candidates. A small mistake in evaluation may lead to serious
problems which may affect the future of the candidates, education system and teaching
profession. To avoid mistakes, it is requested that before starting evaluation, you must
read and understand the spot evaluation guidelines carefully.

2 “Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website, etc. may invite
action under various rules of the Board and IPC.”

3 Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking Scheme
should be strictly adhered to and religiously followed. However, while evaluating,
answers which are based on latest information or knowledge and/or are innovative,
they may be assessedfor their correctness otherwise and due marks be awarded to
them. In class-XIl, while evaluating two competency-based questions, please try to
understand given answer and even if reply is not from marking scheme but correct
competency is enumerated by the candidate, due marks should be awarded.

4 The Marking scheme carries only suggested value points for the answers These are in the
nature of Guidelines only and do not constitute the complete answer. The students can
have their own expression and if the expression is correct, the due marks should be
awarded accordingly.

5 The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be
zero after deliberation and discussion. The remaining answer books meant for evaluation
shall be given only after ensuring that there is no significant variation in the marking of
individual evaluators.

6 Evaluators will mark (V) wherever answer is correct. For wrong answer CROSS ‘X’ be
marked. Evaluators will not put right (v) while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

7 If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the
left-hand margin and encircled. This may be followed strictly.

8 If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

9 If a student has attempted an extra question, answer of the question deserving more
marks should be retained and the other answer scored out with a note “Extra
Question”.

10 No marks to be deducted for the cumulative effect of an error. It should be

penalized only once.
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18

A full scale of marks 70 (example O to 80/70/60/50/40/30 marks as given in Question
Paper) has to be used. Please do not hesitate to award full marks if the answer deserves
it.

Every examiner has to necessarily do evaluation work for full working hours i.e., 8
hours every day and evaluate 20 answer books per day in main subjects and 25 answer
books per day in other subjects (Details are given in Spot Guidelines).

Ensure that you do not make the following common types of errors committed by the
Examiner in the past: -

Leaving answer or part there of unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line.Same is with the X for
incorrect answer.)

@® Half or a part of answer marked correct and the rest as wrong, but no marks awarded.
While evaluating the answer books if the answer is found to be totally incorrect,

it should be marked as cross (X) and awarded zero (0) Marks.

Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

The Examiners should acquaint themselves with the guidelines given in the
“Guidelines for spot Evaluation” before starting the actual evaluation.

Every Examiner shall also ensure that all the answers are evaluated, marks

carried over to the title page, correctly totaled and written in figures and words.

The candidates are entitled to obtain photocopy of the Answer Book on requeston payment
of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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M.M. : 70 PSYCHOLOGY (037) APRIL 2023
PAPER CODE 63 (SET - 4)
MARKING SCHEME

Q.No NCERT Distribution
Book Page of marks
No.
Reference
SECTION - A
Q1. (c) Generalised 18 1
Q2. (b) Psychoticism 33 1
Q3 (b) (ii) and (iii) / (c) (iii) and (iv) 26 1
Q4 (d) Cardinal 32 1
Q5 (b)  (iii) only 61 1

(note-if student writes iii & iv, it is marked as correct)

Q6 (c) Exhaustion 59 1
Q7 (b) Avoidance 64 - 65 1
Q8. (b) (i) and (iii) are true 75-76 1
Q9. (d) Obsessive — Compulsive disorder 77-78 1
Q10. | (c) Specific learning disorder 84 1
Q11 | (b) Both Assertion (A) and Reason (R) are true, but 99-100 1

Reason (R) is not the correct explanation of
Assertion (A)

Q12 | (d) Gestalt therapy 101 1
Q13 | (a) (i), (iii) and (iv) 96 1
Q14 | (d) Assertion (A)is false, but Reason (R) is true 113 1
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Q.No NCERT Distribution
Book Page of marks
No.
Reference
Q15. | (a) Self —fulfilling prophecy / 107, 1
(d) Social Cognition 118 - 119
Q16. | (b) Environmental characteristics 114 - 117 1
Q17. | (c) (ii) and (iii) 135-136 1
Q18. | (a) Both Assertion (A) and Reason (R) are true and 10 1
Reason (R) is correct explanation of Assertion (A)
SECTION -B
Q19. | * Conduct Disorder 84 1
*Types of aggressive behavior
- verbal aggression
- physical aggression
- hostile aggression
- proactive aggression Vot Vo
(Any two of above aggressive behaviours) (1+%2+72=2)
Q20. | (@) * Hardiness 63 1
* a set of beliefs about oneself, the world and how 1
they interact
* 3 Cs — commitment, control, challenge 1
*  Explanation of 3Cs 56-57 1

(Any two points)
OR

(b) * Life events — changes in life from the moment we

are born
*  QOther sources of resources
*  hassles — happening in daily lives

*  traumatic events — being involved in variety
of extreme events

(1+1=2)

VA
VA
1+Vo+140=2
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Q.No NCERT Distribution
Book Page | of marks
No.
Reference
Q21 |* Cognitive distortion — Ways of thinking general in 99 1
nature but which disturb reality in a negative manner.
*  Example — “l am ugly”, 1
| am stupid” or any other relevant example. (1+1=2)
Q22 |* Two step concept with relevant explanation.
(Any other theory of attitude change if explanation| 112-114 2
provided in relation to the given situation).
Q23 |In-group 136 2+ 2
*  Refers to one’s own group
*  Use the word “we” or “us”
*  Persons are generally supposed to be similar, viewed
favourable, have desirable traits
*  Supporting example
(Any two relevant points)
Out - group
Refers to another group ny
*Use the word ‘they’
*Members are viewed differently and often perceived
negatively in comparison to in-group members.
*Supporting Example
(Vat'at 2
(Any two relevant points) +14=2)
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Q.No

NCERT
Book Page
No.
Reference

Distribution
of marks

SECTION-C

Q24

Hierarchical Model of Intelligence by Arther Jensen

Level 1 — Associative learning in which output is more or
less similar to input

(Possessed by Ryan)

Level 2 — Cognitive competence involves higher order
skills as they transform the input to produce on
effective output.

(Possessed by Shireen)
Based on Psychometric Approach

(or any other relevant explanation)

2+ 2

1
(1+%2+7%2
+1=3)

Q25.

Psychological Models

1. Psychodynamic

2. Behavioural

3. Cognitive

4. Humanistic — Existential
(Explanation of any three)

74-75

141+1=3

Q26

(@) La Piere experiment or any other related evidence/
example

OR

(b) Beliefs — refer to the cognitive component of attitudes
and form the ground on which attitudes stand such
as belief in God (or any other e.g)

Values — are attitudes or beliefs that contain a
should or ought aspect, such as moral or ethical
values. For e.g. one should work hard (or any other
e.g.)

117

108 - 109

1%+ 17

Q27

Team

Both individual
contribution and
teamwork matters

Group

1. Performance is 1.
dependent on
contribution of individual

member 2. Although there is a

leader, members hold
themselves responsible

2. Leader or whoever is
heading the group holds
responsibility for the work

(Any other relevant difference)

131

1%

1%

1%2+172=3
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Q.No NCERT Distribution
Book Page | of marks
No.
Reference
SECTION-D
Q28 | PASS Model Page 9
(@) | (i) Attention Arousal 1
(ii) Simultaneous & successive 2
(iii) Planning 1
(Explanation of above processes) (1+2+1=4)
OR
Q28 e According to Vygotsky culture provides a social Page
(b) context in which people live, grow and understand 15-17

the world around them.

e Sternberg’s notion of contextual or practical
intelligence implies that intelligences is a product of
culture.

e Technologically advanced societies adopt child
rearing practices that foster skills of generalization,
abstraction, speed, minimal moves and mental
manipulation among children, whereas

e Integral intelligence emphasizes on connectivity with
the social and world environment and maijority
focuses on cognitive, social, emotional and
entrepreneurial competences.

(Or any other four relevant points) 1+1+1+1=4

Q29 | e Given example can be best understood with the help of 37
Carl Jung’s analytical Psychology.

e Concept of collective unconscious consisting of
Archetypes or primordial images.

e Primordial images (archetypes) are not individually

acquired, but are inherited.
e The God or the Mother Earth.

e So the British children have the primordial images of

snakes (archetype) which are inherited (or any other 141414124

relevant example)

(Any other relevant feature of Carl Jung’s theory)
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Q.No NCERT Distribution
Book Page of marks
No.
Reference
Q30 | Life Skills 64 — 65
@ | Assertiveness
e Time management
e Rational Thinking
e Improving relationships
e Self care
e Overcoming unhelpful habits
(Explanation of any four life skills) 1+1+1+1=4
OR
(?S)O Stress management techniques
. Relaxation techniques 62 - 63
. Meditation procedures
o Biofeedback
o Creative Visualization
o Cognitive behavioural techniques
. Exercise
(Explanation of any 4 techniques) 1+1+1+1=4
Q31 | Behaviour modification techniques 97 - 98
e Positive reinforcement
e Negative reinforcement
e Aversive conditioning
e Token Economy
o Differential reinforcement
e Modelling/ Vicarious learning (2+2=4)
(Relevant explanation of any two of the above techniques)
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Q.No NCERT Distribution
Book Page of marks
No.
Reference
PART - E

Q32 | e Type Approach — Attempts to comprehend human 30-31
(a) personality by examining certain broad patterns in the
observed behavioural characteristics of individuals.

Type Theories
e Hippocrates / Greek — based on fluids, humour

Four types — Sanguine, phlegmatic, melancholic,
choleric

e Charak Samhita/ Tridosha / Ayurveda
Categories — Vatta, Pitta, Kapha

e Trigunas — Sattva, Rajas, Tamas

e Sheldon — Based on body built and temperament

e Endomorphic, Mesomorphic, Ectomorphic

e Jung’s typology — Introvert and Extrovert

e Recent Years

Friedman Rosenman — Type A & Type B

Type C and Type D 1x6=6
(Any six points to be explained)
OR

Q32 - - 35 - 36 1
(b) Ego Defence Mechanism / Defence Mechanism B

e Repression

e Projection

e Denial 1x5=5

e Reaction Formation
e Rationalization

(Brief explanation of any five defence mechanisms with
relevant examples) (1+5=6)

Note: Any other defence mechanism which is relevant
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SECTION - F
Q33 | Disorder — Intellectual disability 83 1
(@) Distinction between intellectual disability and autism 1

spectrum disorder
Intellectual disability:

e The child having I.Q. 70 or less than 70 suffer from
intellectual disability.

¢ Child deficits or impairments in adaptive behavior i.e. in
areas of communication, self care, home living,
sociall/interpersonal skills etc.

Autism Spectrum Disorder:

e About 70% of children with this disorder have
intellectual disabilities.

e Autism spectrum disorder is characterized by wide
spread impairments in social interaction and
communication skills.

e Shows restricted range of interests and strong desire
for routine i.e. difficulty in socialization. 1+1=2

(Any one difference)

OR

(Qb??’ Mohsin suffers from moderate intellectual disability 85

Severe /Profound form of intellectual disability, differs from
moderate intellectual disability in respect of self — help
skills, speech and communication, academics, social skills,

vocational adjustment.
1+1=2

(Explanation of any two areas of functioning)
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relate to others.

(Any of point (i) and (ii))

Q.No NCERT Distribution
Book Page | of marks
No.
Reference
Q34 | Classification of psychological disorders 73
() DSM-5byAPA
(i) ICD-10 by WHO. 1+1=2
Q35 | Triarchic Theory of intelligence 8-9
Type of Intelligence — Contextual Intelligence 1+1=2
Q36 | * Intrapersonal intelligence 7 1
* (i) Awareness of one’s own feelings motives and 1
desires
(i) Knowledge of one’s internal strengths and
limitations and using that knowledge to effectively
(1+1=2)
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